& £ 2w 8 %
TEABRZARERNETE AITE No. 1
I & - # B B g = REtEE | B | & =
BEDEET
<@#EpRELI>
SHLE R LI B TA77 M MR EE kiR AR EZEDER Y 106. 4 110 m
15emLLTF
S R B R TA77 ) M 3L kR ARG EZEDERY 219.0 220 m2
15emELF
SHEE AR R R TA77 M MR EE RiR AR EZEDER Y 959. 8 960 m?2
15cm % #8 Z 40cmLL T
WHY-MEEWEE U | EFEEY HMET ARG EZEDELSY 54. 6 55 m3
Y- MEEWER L85 FEEY HMMET 47.59+12. 50 60. 1 60| m3
EREE R -7 - B - SRR 1.0 1| = [s0keLiF23+39+94
40kg#891+30+40
AMiEE a 2.06 2.1 2l m3
<PEHNET>
B TAITN ISR 219. 0%0. 05 11.0 11| m3
B TAITV ISR 959. 8%0. 16 153. 6 1541 m3
A5 TAT7 VMR 11.0+153. 6 164.6 165 m3
OB ik -k (FERR) ARG EZDELSY 54. 6 55| m3
R 5 -k (FERR) ARG EZDELY 54. 6 55| m3
OB ik WHY-bak (85 5H) ARG EZDELY 60. 1 60| m3
R 5 WHY-bak (85 5H) ARG EZDELSY 60. 1 60| m3
TR EEK a 1. 06+2. 06 3.1 3] m3
R E0S A 2.60t/m3 1.06+2. 06 3.1 3] m3




P E # = =3 it =
TEHBARZAFEERIBEIE AI=E No. 2
I & # H iR g =t REtHE | B4 | & =
BERET
<EELXI>
Rl R 23. 0+229. 8= 252.8 250 m3
FRIE Y T A#EAEZEDESY 449.3 450 m3
HREL INRAIR AIAEZEDE LY 86.9 90| m3
A (-17) AIAEZEDESY 105.0 110 m3
<BHitunEr>
TR EE K B~ REB~H5 86.9+105. 0= 191.9 190 m3
TR FRAL
TR EE K R~ 050 ih 252.8+449. 3-86. 9-105. 0= 510. 2 510] m3
T
Rtung R 252. 8+449. 3-86. 9-105. 0= 510. 2 510] m3
<BEZENET>
R ENIE BEES1.0mLUTF A EZEDEB Y 1018.3 1020 m2
E{t442. 4t/100m?2
BEKkiEEYMT
<fAET>
B B o AlE 4t FAB600 x H500 AR EZED LB Y 108.12= 108. 1 108] m |smas@mzion
Aun" -pavhy- 18-8-40BB RlIEtEZD LB Y 3.26= 3.3 3] m3
GEEVVIES 18-8-25BB AT EED LB Y 16. 4 16] m3




A T £ # = S 1) &

TEHEBAZ A RERYRTE AIE No. 3

I ¥ - # B R i) " =X EREtHE | B4 [ B =
<EEI>

ERHEKE VP ¢ 150 A EEDESY 0.5 0.5 m

R K E VP ¢ 200 B EEDLESY 0.5 0.5/ m

R K E VP ¢ 300 BB EEDLESY 0.5 0.5 m

<EFEK#H - W-pIT>

7" UEvA MR K B300 x L600 x H800 BT EED LB Y 2.0 2| BEFR |kt TP4-2~35
7" UEvAREE K B600 x L600 x H800 BT EED LB Y 1.0 1| &rr [#k#TPio-28
7" UEeAREE K B800 x L1000 x H1000 BT EED LB Y 1.0 1| &rr [EkHTP14E
<KBHET>

BESR K ERFEE T 12! [B360*T100 BT EED LR Y 21.7 22[ m

BESRKER#E1E T 28! [B360%T100 B EED LB Y 66.0 66] m

B R KER 715 T4E! |B400%T120 A EEOERY 17.7 18] m

<#ERT>

tRAav))-MEIET [18-8-40BB t=100 B EEZEDEHY 0.6%0. 1= 0.06 0.1 m3

SEBAKFIT AMEHEEDLEL Y 2.0 2.0| &R




Y. I = o = =
TEHAPAZEFRERKBIE . - No. 4
I & # B iR i g = REtH=E | B | 8
SET
<HEESET (AHAZEH >
HE (BE - BB [BEBEAET ALY (20)t=5em [BIHETEZDEHY 213. 213] m?2
W<1.4
= (EHE - BEE) ﬁi*ﬂﬂiﬁrﬁmy (20) t=bem |BIFKETBEZDEHY 700. 7 701 m2
1.4<W=3.0
tREmE (EE - BEL) |REARRA M-30)t=10cm |[RI#EAEZEDL LY 911.3 911 m2
TRE®RE (8 - B |[BEI7yv¢Iy (RC-30)t=10cm [BIIEHAEZD L BY 903.9 904] m?2
<HESEI KzFFit1 =K >
*EEE - BED) [BEZHETAY (13)t=3cm |[RlI#RHEZDLEHY 36.7 37 m2
W<1. 4
*EEE - BED) [BEZHETAY (13)t=3cm |[RlI#RHEZD LB Y 147.4 147 m2
3.0=W
tEmE (EE - BED) |RERARRA M-30)t=12n |A#EAEEDESY 33.5 34| m?2
TRE®RE (E:E - B [BE)7yY¢7y RC-30)t=10cm [BIFEHAEZDEEY 33.5 34 m2
REEZEIE HERH#MM-30 36.7+147.4-33.5= 150. 6 151] m2

t=3F 1 3cm




P E # = gt =
TEHBARZAFEERIBEIE [ = No. 1
I & - # B B g = REtEE | B | & =
HKEEMT
<7° b¥4AMIWN —b T >
7" L3 AME 9h2 B500 x H500 AT EZEDESY 1.0 11 = |EEI2E
L=0. 95
7° L3 AME vh2 B800 x H300 AT EZEDESY 1.0 11 K |HEIIR
L=1.33
7° LAY AME vh2 B1000 x H700 AT EZEDESY 1.0 11 = |EEISR
L=6. 01
<fAET>
7° L3y AUBL{AIE PU3-B250%H250 A EZEDELSY 2.0 2l m
B R EEE %t FAB400 x H600 AlFEAEZEDEFH Y 88.0+6.0= 94.0 94| m |EmamEiEIR
B3 E A AR i T A%
B R EEE %t FAB400 x H700 RAFRAEZDEHLY 16.00= 16.0 16| m |amaEmEzIon
B R EEE it FAB400 x H800 RIFRAEZDELY 12.00= 12.0 12 m |aomamEgTon
BHEAEEE #it 7 FAB500 x H600 RMAEZEDEESY 100.00= 100.0 100] m [|BmamAETz
B R EEE %t FAB500 x H700 RFRTEZEDEHBY 7.00= 7.0 7l m |amameiETis
EEAERETE S it ¥ FAB500 x H900 RFRETEZEDEHY 3.52= 3.5 4/ m |amampETiRn
B R A EEE it FAB500 x H1000 RIFRETEZEDEHY 5.00= 5.0 5| m |amamAiETIz
B R aEAE 17 FAB400 x H600 RIFRETEZEDEHBY 6.00= 6.0 6] m |EmaiEETIR
B3 F 4 AR i T A%
{un =bavhy-+ 18-8-40BB R EZNEHY 6.51= 6.5 71 m3




P E # = gt =
TEHBARZAFEERIBEIE [ = No. 2
I i& # B 3 g = REtEE | B | & =
fBz5avhy-+ 18-8-25BB ATEZEDELY 3.0 3] m3
<BEEIT>
REEHKE VP ¢ 200 AT EZEDESY 12. 13.0[ m
<EFEK#H - W-pIT>
RIGIT B EKkM B700 x L2000 x H1050 AT EZEDESY 1.0 1| &Fr | I
7K ¥t B x H1000 AT = 3.0 3INE AR TP6-1~3E
7" Vv AMEE K ¥ B500 x L500 x H1000 AT EEDELY 10.0 10| & [gxmzri-1~10m
7" Vv AbEE K #t B500 x L1000 x H1000 A EEDELY 2.0 2| EFT |EkiTPI-1~25
7° kv A SR K #t B800 x L800 x H1500 ATAEZEDELY 1.0 1| &#Fr |SEK#TP13EY
7" kv A MEE K #t B800 x L1000 x H1250 AAEEDELY 1.0 1| &EFr |SEK#TP15EY
7" UEvAbEE Kt B1000 x L1000 x H1000 A#EAEZEDESY 1.0 1| &fr |EK#ITP16EY
< &K MBOXER & &3 T >
Sk TP138Y BOX-B800+H800 1.0 1| &Pfr
Skt TP165 BOX-B1000xH700 1.0 1 &Fr
Sk TP17-18Y BOX-B1000«H800 1.0 1 &Pr
Sk TP17-281 BOX-B1000x«H800 1.0 1| &Pr




N T £ 4 =

TEHAPAZEFRERKBIE M TE= No. 3
I & - # B iR g RETHE i =
<IRIBITKIEIT>
B{FKE& T B400*xH550 AT EEDELY 1
FHEI
<fFHI>
ERNEH B 1| &rr (A1

4 0m= 4%
HRE - EEES B 1| = [K4.K5.K6.K7
TR F 992 A EHAEF 92 AEIE 1| &rr [4

30kgk i k&
ZREAFHITGAEA) |TK 15FKWE- 5| &mr |2.6.7.10.37

TK




WEIHERER

1.0 %Y
% ¥ #H B8 it & R Bl % 8
1. SHEERL
TAI7ILE
Ecall t=15cm | SRS EHRSE (t=5cmt=15cm)
98.8+7.6 = 1064| m 106.4
TAI7ILE
SHEEAREIEL | t=15cm | SEEEURLBESEH RS M (t=5cm)
217.1+1.9 = 219.0{ m2 219.0
15em<t=<40cm| FHEIVELBEEHRSE (FHt=16cm)
502.7+457.1 = 0959.8] m2 959.8
2. 39" —hEEL
|HavyU-b | KERAIEE | |EIV))-MRIZELBESHRSE m3 5.55
IG5 KB " m3 48.90
BEYER " m3 0.14
THEIVE " m3 0.05
|t m3 54.64
g&EHaVY)-b ARV IEL B E SRS R m3 47.59
3. —REEEE “REGHERELHRSE Fa 1.0
ZREGFNS BV -DBEEHERSE m3 12.50
EhRIE | 40Z#B R 170kg/ BT 54 91.0
4. BMEE BEMBERESEHRER
BERE m3 1.06
EhRiEE | 40ke/ BT ® 23.0
DaRE m3 2.06




WEIHERER

1.0 HY
% W # B it 75 A Bt # =
5. sMiBE M ERELEHRSE
fa s Ay - SRR B =
EhRiE | 40kg/BLLTF " 39.0
EZREE | 40Z B A 170kg/fULT ® 30.0
JL—FUUERE
EhRiE | 40kg/BLLTF " 94.0
EZRiEE | 40 B A 170kg/fULT ® 40.0
6. BEHRNIE
TAITILNSE | shsepmmntEC k| 219.0%0.05+(502.7+457.1)%0.16 = 1645| m3 164.5
IV MR 54.64 = 5464 m3 54.6
SRERIVY) -k 60.09 = 60.09| m3 60.1

AR 1.06+2.06 = 3.12] m3 3.1




|- MR ESRE R

1.0 HY
% REES i 5 A Bt # =
B200 X H200 L=10.2m
7K E& 4B B 3 0.20%0.20%10.2 0.41| m3 0.41
B150 X H100 L=10.2m
3 0.15%0.10%10.2 0.15| m3 0.15
B200 X H200 L=8.1m
4 0.20%0.20%8.1 0.32| m3 0.32
B200 X H70 L=3.5m
4 0.20%0.07*3.5 0.05| m3 0.05
B150 X H50 L=11.6m
4 0.15%0.05%11.6 0.09| m3 0.09
B200 X H200 L=9.5m
5 0.20%0.20%9.5 0.38| m3 0.38
B150 X H80 L=9.5m
5 0.15%0.08%9.5 0.11| m3 0.11
B200 X H200 L=15.3m
6 0.20%0.20%15.3 0.61| m3 0.61
B150 X H80 L=9.4m
6 0.15%0.08%9.4 0.11| m3 0.11
B150 X H200 L=5.9m
6 0.15%0.20%5.9 0.18| m3 0.18
B200 X H200 L=3.1m
7 0.20%0.20%3.1 0.12| m3 0.12
B200 X H100 L=4.6m
7 0.20%0.10%4.6 0.09| m3 0.09
B150 X H80 L=3.1m
7 0.15%0.08%3.1 0.04| m3 0.04
B150 X H100 L=4.6m
7 0.15%0.10%4.6 0.07| m3 0.07
B200 X H200 L=7.6m
8 0.20%0.20%7.6 0.30| m3 0.30
B150 X H50 L=7.6m
8 0.15%0.05%7.6 0.06| m3 0.06
B200 X H200 L=6.9m
9 0.20%0.20%6.9 0.28| m3 0.28
B150 X H50 L=6.9m
9 0.15%0.05%6.9 0.05| m3 0.05
B200 X H200 L=17.7m
10 0.20%0.20%17.7 0.71| m3 0.71
B150 X H100 L=12.0m
10 0.15%0.10%12.0 0.18| m3 0.18
B150 X H200 L=5.7m
10 0.15%0.20%5.7 0.17| m3 0.17
B200 X H200 L=12.2m
11 0.20%0.20%12.2 0.49| m3 0.49
B150 X H50 L=12.2m
11 0.15%0.05%12.2 0.09| m3 0.09
B200 X H300 L=6.8m
12 0.20%0.30%6.8 0.41| m3 0.41
B150 X H80 L=6.8m
12 0.15%0.08%6.8 0.08| m3 0.08
& &t m3 5.55




|- MR ESRE R

1.0 HY
% REES i 5 A Bt # =
B350 X H550~850 L=11.0m
IS KRR 2 RIRLHEHEESE m3 2.45
B450 X H700 L=8.0m
25 BIRLHBEHEESE m3 3.60
B450 X H660~ 700 L=26.0m
26 BIRLHEHEESEH m3 10.39
B450 X H630~ 730 L=16.5m
27 RIRLHEHEESE m3 7.28
B500 x H600
66 BIRLHEHEESE m3 6.27
B600 x H650
67 RIRLHEHEESE m3 3.91
B600 X H450~ 650
68 RIRLHEHEESE m3 2.20
B600 x H450
69 BIRLHEHEESEH m3 12.80
A&t m3 48.90
BiEmER
BOX-B500 X H500 L=1.6m
BRI T B K3 RIRLHEHEESE m3 0.14
A&t m3 0.14
Z Nt
t=10cm A=0.5m2
TRAavy)-+ C7 0.10%0.5 0.05| m3 0.05
&&t m3 0.05




SV -PEIRLBE SRR

1.0 HY
% REES i 5 A BEirl # 2
B220 X H600 L=1.4m
avy) —hREE 1 0.22%0.60%1.4 = 0.18 m3 0.18
B500 X T130 L=3.5m
aH") — kKRR 4 0.50%0.13%3.5 = 023| m3 0.23
B550 X T100 L=4.6m
7 0.55%0.10%4.6 = 025/ m3 0.25
B450 X T50 L=5.8m
11 0.45%0.05%5.8 = 013| m3 0.13
B600 X H600 L=130.0m
B 24 0.60%0.60%130.0 = 46.80| m3 46.80

=X m3 47.59




“REGRHEREESE
1.0 Y
% REES it & K BEil % =
ZRE FhKER 28 PU3-B400 x H500 m 75.0
BRET K3 BOX-B500 X H500 L=1.6m m 1.6
avH)—hE 9 B530 x L500 X T120 5'd 8.0
11 B420 x L1000 X T50 " 40
28 B510 X L500 X T110 " 79.0
EZMEE 40% B Z 170kg/ LT " 91




1.0 HY
% REES i 5 A BEirl # 2
ZRERAY) — RS (B FaV ) — k)
PU3-B400 x H500
ZRE FIKEE 28 75.0%0.127m3/m 9.53| m3 9.53
BOX-B500 x H500
BET K3 BIRLHEHEESEH m3 0.42
B530 X L500 X T120
a9 —hE 9 0.53%0.50%0.12%*8 0.25| m3 0.25
B420 x L1000 X T50
11 0.42%1.0%0.05%4 0.08| m3 0.08
B510 X L500 X T110
28 0.51*%0.50%0.11%79 2.22| m3 2.22
&&t m3 12.50




BEMREREREIR

1.0 HY
% REES it 75 A Bt # =
B400 X T150 L=0.9~1.0m/#% n=9%&
EERE 2 0.40%0.15%(0.9+1.0)/2%9 0.51| m3 0.51
B370 X T100 L=0.7~1.35m/#% n=9%&
3 0.37%0.10%(0.7+1.35)/2%9 0.34| m3 0.34
B450 X T100 L=0.92m/#X n=5%k
12 0.45%0.10%0.92%5 0.21| m3 0.21
EMREE 40kg/BLLT " 23
&&t m3 1.06
B180 X T100 L=10.2m
UEEE 3 0.18%0.10%10.2 0.18| m3 0.18
B200 X T150 L=11.6m
4 0.20%0.15%11.6 0.35| m3 0.35
B180 X T120 L=9.5m
5 0.18%0.12%9.5 0.21| m3 0.21
B200 X T120 L=9.4m
6 0.20%0.12%9.4 0.23| m3 0.23
B150 X T120 L=3.1m
7 0.15%0.12%3.1 0.06| m3 0.06
B150 X T150 L=7.6m
8 0.15%0.15%7.6 0.17| m3 0.17
B200 X T150 L=6.9m
9 0.20%0.15%6.9 0.21| m3 0.21
B150 X T100 L=12.0m
10 0.15%0.10%12.0 0.18| m3 0.18
B180 X T150 L=12.2m
11 0.18%0.15%12.2 0.33| m3 0.33
B170 X T120 L=6.8m
12 0.17%0.12%6.8 0.14| m3 0.14
A&t m3 2.06




SMBERERIR

1.0 HY
% W REES it 75 A Bt # =
1. faditk - AR E
B430 X L900 X T4.5 n=1#
fa iR 2 0.43%0.90%1%*37.0kg/m2 14.32| kg 14.3
B250 X L560 X T3.2 n=2#
2 0.25%0.56%2%26.8kg/m2 7.50| kg 75
B500 x L1300 X T4.5 n=1%&
3 0.50%1.30%1%37.0kg/m2 24.05| kg 241
B500 x L1200 X T4.5 n=1%&
3 0.50%1.20%1%37.0kg/m?2 22.20| kg 22.2
B600 x L1400 X T4.5 n=1%&
7 0.60%1.40%1%37.0kg/m?2 31.08| kg 31.1
B600 X L360 X T4.5 n=1#
7 0.60%0.36%1%37.0kg/m2 7.99| kg 8.0
B620 X L920 X T6.0 n=4#
8 0.62*%0.92%4%44 9kg/m?2 102.44| kg 102.4
B700 X L920 X T6.0 n=4#%
8 0.70%0.92%4%44 9kg/m?2 115.66| kg 115.7
B600 x L1080 X T6.0 n=5%&
10 0.60%1.08%5%44 9kg/m?2 145.48| kg 1455
B500 x L1080 X T6.0 n=24&
10 0.50%1.08%2%44 9kg/m?2 48.49| kg 48.5
B500 x L1000 X T6.0 n=24&
10 0.50%1.00%2%44 9kg/m?2 44.90| kg 44.9
B500 X L250 X T6.0 n=1#&
10 0.50%0.25%1%44 9kg/m?2 5.61| kg 5.6
B760 x L3050 X T22.0 n=2%k
itk 10 0.76%3.05%2%172.7kg/m2 800.64| kg 800.6
B550 x L1150 X T6.0 n=14&
25 0.55%1.15%1%44 9kg/m?2 28.40| kg 28.4
B610 X L800 X T4.5 n=44%
27 0.61%0.80%4*37.0kg/m?2 72.22| kg 72.2
/N BT kg 1471.0




SMBERERIR

1.0 HY
% W REES it 7 R B #% 2
B790 x L1190 X T6.0 n=1#%
fa iR 66 0.79%1.19%1%44 9kg/m2 = 4221 kg 42.2
B670 X L980 X T6.0 n=1#&
66 0.67*0.98%1%44 9kg/m?2 = 2048| kg 29.5
B850 x L1160,/1400 X T9.0 n=1%%
67 0.85%1.28%1%72.3kg/m2 = 78.66| kg 78.7
B850 x L1400 X T9.0 n=1#%
67 0.85%1.40%1%72.3kg/m2 = 86.04| kg 86.0
B700 x L1730/1930 X T6.0 n=1%%
67 0.70%1.83%1%44 9kg/m?2 = 5752| kg 57.5
B910 x L1300 X T6.0 n=1#%
67 0.91%1.30%1%44 9kg/m?2 = 53.12| kg 53.1
B1000 x L1200 X T6.0 n=1#&
68 1.00%1.20%1%44.9kg/m?2 = 5388| kg 53.9
B750 X L1220 X T6.0 n=12%&
69 0.75%1.22%12%44 9kg/m?2 = 493.00| kg 493.0
B750 x L1000 X T6.0 n=1#%
69 0.75%1.00%1%44 9kg/m?2 = 3368| kg 33.7
B750 X L280 X T6.0 n=1#%
69 0.75%0.280%1%44 9kg/m?2 = 043| kg 9.4
B910 X L1150 X T6.0 n=1#%
69 0.91%1.15%1%44 9kg/m?2 =  46.99| kg 47.0
B700 X L910 X T6.0 n=1#&
69 0.70%0.91%1%44 9kg/m?2 = 2860| kg 28.6
B750 x L1100 X T6.0 n=2#%
69 0.75%1.10%2%44 9kg/m?2 = 74.09| kg 74.1
B500 X L950 X T6.0 n=1#%
69 0.50%0.95%1%44 9kg/m?2 = 21.33| kg 21.3
B750 X L820 X T6.0 n=1#&
69 0.75%0.82%1%44 9kg/m?2 = 2761| kg 27.6
B750 x L1530 X T6.0 n=9%%
69 0.75%1.53%9%44 9kg/m?2 = 463.70| kg 463.7
B750 X L890 X T6.0 n=1#%
69 0.75%0.89%1%44 9kg/m?2 = 2097| kg 30.0
N B kg 1629.3
EMREE 40kg/BLLT " 39
EMREE 40F B A 170ke/ LT 34 30
5 kg 3100.3




SMBERERIR

1.0 HY
% REES i 5 A BEirl # 2
2. JL—FLUERE
B350 x L500 X T50 n=1%&
JUL—F5 % 2 1%15.2kg/ 4% = 15.20| kg 15.2
B450 X L1000 X T30 n=14%

2 1%21.7kg/#8 = 21.70| kg 21.7
B360 X L1000 X T45 n=5#%

4 5%25.0kg/ X = 125.00| kg 125.0
B300 X L1000 X T25 n=3#%

4 3k14.1kg/ X = 4230| kg 42.3
B450 x L995 X T50 n=9%&

5 9%35.3kg/ X = 317.70| kg 317.7
B300 X 995 X T50 n=15%&

6 15%27.3kg/#& = 409.50| kg 409.5
B450 x L500 X T30 n=4%&

9 4x11.2kg/ X = 4480| kg 448
B300 X L1000 X T50 n=2#4%

11 2%35.2kg/ X = 7040| kg 70.4
B380 x L380 X T20 n=1%k

11 1%4 3kg/# = 430 kg 43
B300 X L1000 X T35 n=3#&

12 3%19.4kg/ X = 5820| kg 58.2
B400 x L500 X T50 n=6%%

25 6%22.0kg/ X = 132.00| kg 132.0
B400 X L995 X T30 n=4#%

25 4%30.4kg/ X = 121.60| kg 121.6
B450 X 995 X T50 n=14#%k

26 14%35.3kg/#% = 494.20| kg 494.2
B450 x 995 X T30 n=13%&

26 13%21.7kg/#& = 282.10| kg 282.1
B450 % 995 X T50 n=13#%

27 13%35.3kg/#& = 45890| kg 458.9
B510 X 995 X T65 n=40%%

28 40%51.2kg/ X = 2048.00| kg 2048.0
EMREE 40kg/BLLT " 94
EMREE 40F B A 170ke/ LT 34 40

5 kg 4645.9




HERK Z AR SEREL FHAHES
SHERUEL (B FiJt=16cm
A R (X 1 EE WE
FHE | F B FHE | F B
2+77.8 0.000 0.00
2+80 2.200 3.40 1.70 3.7
NO.3 20.000 4.26 3.83 76.6
3+20 20.000 411 4.19 83.8
3+40 20.000 4.15 4.13 82.6
3+60 20.000 3.99 79.8
3+80 20.000 3.82 76.4
NO.4 20.000 3.78 75.6
4+6.45 6.450 3.75 3.75 24.2

op

128.650

502.7




HERK Z AR SEREL FHAHES
SHERUEL (Z ) FiJt=16cm
A R (X 1 EE WE
FHE | F B FHE | F B
2+77.8 0.000 4.24
2+80 2.200 3.82 4.03 8.9
NO.3 20.000 3.35 3.59 71.8
3+20 20.000 3.41 3.38 67.6
3+40 20.000 3.46 3.44 68.8
3+60 20.000 3.40 68.0
3+80 20.000 3.58 71.6
NO.4 20.000 3.80 76.0
4+6.45 6.450 3.79 3.79 24.4

op

128.650

4571




R2AmIL15# HENRL FHEARES

SHAEEIEL (t=5cm)

A R | RfEES HE
] TR | F & ] TR | F &

0-1.7 0.000 0.00

NO.0 1.700 3.65 1.83 3.1

0+10 10.000 4.10 3.88 38.8

0+20 10.000 4.00 4.05 40.5

0+40 20.000 4.40 4.20 84.0

0+40’ 0.000 0.68

0+60 20.000 0.68 0.68 13.6

0+80 20.000 0.68 0.68 13.6

NO.1 20.000 0.73 0.71 14.2

1+7.0 7.000 0.68 0.71 5.0

1+11.0 4.000 0.68 0.68 2.7

1+13.3 2.300 0.68 0.68 1.6

a5 & 115.000 2171




EAFER- /Ny F o - RIEIRSHERUEL I EEET R

3 SHEE HEE HEE
t=3cm t=4cm t=5cm
HEMEREL Al 1.9 BEIFEER
& &t 1.9




BT EEE O - MERVIIT R ESRSTR

3 o SHETI SHEEUINT | 2v))-MEEEYIN
2 mEES = = = =
t=5cm t=15cm t=20cm
HE IR Al 2.1 BEITER
" A10 82.2 "
" AO 14.5 "
" A00 7.6 "
m m
& § 98.8 7.6




2 WG KERERERL

(B350 x H550~850)
700
150 350 200
EEE

\\ P
g5 ™ 52 %

I

M

\ s~ VIR L
L= 110 m
% ¥ # B it g N Bl M2

U9 -bEIEL | (0.55%0.85-0.35%0.70)%11.0 = 245 m3 245




25

WG KERERERL

(B450 x H700)

900
200 450 250
HEFRIVY)-MERIE L
=
&l 2
=
4
L = 80 m
% W B i+ B R BHirl & =2
IV -FERIEL | (0.90%0.85-0.45%0.70)%8.0 = 360l m3 3.60




26 RISIT/KEREIEL
(B450 X H660~700)
850
200 450 200
EFHavy)-FEIEL
| 8 /
B
! 2
=
L= 260 m
% W B i+ B R Bifr =
IV -FERIEL | (0.85%0.83-0.45%0.68)%26.0 = 10.39| m3 10.39




27 RIGIT/KEEIEL
(B450 X H630~730)
900
200 450 250
4 55100)- BRI L
| s /
= !
! 8
g 0w
2
5|
L= 165 m
% W W B - By =
(0.90%0.83-0.45%0.68)%16.5 = 7.28] m3 7.28

UH)-FERIRL




66 RIGFTKEREREEL

(:B500 x H600)
200 . 550
200 550 SkERavY) - ERE L
N
=4 Y
o /
o sV 77
R -FEREL 250 500 ERR LY -FERIE L 250 400 100
750 750
BH /K % X [5:B500 X H600 L=22.7m FR B X f51:B400 X H600 L=2.8m
% W H B i 7B R Hi) =
IV -FERIEL | ((0.20+0.25)/2%0.60+0.75%0.15)%22.7 = 5618
((0.20+0.25)/2%0.60+0.65%0.15)*2.8 = 0651
£ =  6.269] m3 6.27

53] 0.75%0.15%2.8 = 032 m3 0.32




67 RIGFTKERERL
(B600 % H650)
% o B B /
N 7
5% 7 18
| 1H
8 V7 s V507

BH /K BR X [51:B600 X H650 L=5.8m

B B X f&1:B600 X H500 L=10.6m

% W W B i 7B R Hi) =
IV -FERIEL T (0.80%0.80—0.60%0.65+0.15%0.15)%5.8 =  1.581
(0.80%0.65-0.60%0.50)*10.6 = 2332

£t = 3913 m3 3.91

53] 0.95%0.15%10.6 = 151 m3 1.51




68 RIGFT KRR EREEL

(B600 X H450~650)
950 950
200 600 150 200 600 150
FRERIVI-FEREE L
/ gf s 7
g ¢ / 2| 8 %
- g 1
s / J & %
7 7
SRR L L) - EREEL
BH /K B X R5:B600 X H450 ~ 650 BB X f51:B600 X H300~ 500
L=1.1m L=9.6m
% W B i 7B R Bifr =
IV -FERIEL T (0.80%0.70—0.60%0.55+0.15%0.15)*1.1 = 0278
(0.80%0.55-0.60%0.40)*9.6 = 1.920
£t = 2198 m3 2.20
k85 0.95%0.15%9.6 = 137 m3 1.37




69

WIS KERERL

(B600 X H450)

950

200

600

150

600
450

950

600

B -MEREE L

150

150

AN

A

\ R~ VI L

BH/K BR X [51:B600 X H450 L=36.7m

450

300

150

NN

N

\_ sy - R L

PR hR X f&1:B600 X H300 L=23.7m

% W W B i B X B4 82
a9 -FERIEL | (0.80%0.60—0.60%0.45+0.15%0.15)%36.7 = 8533
(0.80%0.45-0.60%0.30)*23.7 =  4.266

5t = 12.799| m3 12.80

E5:0 0.95%0.15%23.7 = 338/ m3 3.38




K3 EETIRIEL
(BOX-B500 x H500)
700
100, 500 100
] |
gl 8 BOX-B500 x H500
—~ Lo
S
= | |
ATV - FEE L
L = 1.6 m
% W H B i 7B R {1 =
IV -FERIEL T 0.90%0.10%1.6 = 0.14| m3 0.14
5 (0.70%0.70-0.50%0.50+0.10*0.10%2)*1.6 =  0416| m3 0.42




T T HE®R

S

— ER £ Hl R L i BERL 2375 g A
B .
Z0M | W<50 W=50 W<25 | 25<wW<4.0 W<10 [1.0=w<40| H=040m | H=060m | (L—R)
(60kg/m3) | (70kg/m3)
HEARZ AR L=131.95m 2298 173.0 26.3 1018.3 30.7
174.4 28.3 74.3
R2AmEIL154 | L=115.1m 230 78.5 22.7
HERERELT T n=1EfT 23.4 9.6
3 3 3 3 2
m m m m m
& i 230 2298 4493 86.9 1018.3 105.0




HEARZ AR R ESE
B #l:w<5.0 B #El:W=5.0
X e B Rt =
MR E 1R B | WEE | Tokm| 7 B
2+74.5 0.000 1.3
2+80 5.500 1.3 1.30 7.2
NO.3 20.000 1.7 1.50 30.0
3+20 20.000 2.0 1.85 37.0
3+40 20.000 15 1.75 35.0
3+60 20.000 1.9 1.70 34.0
3+80 20.000 1.9 1.90 38.0
NO.4 20.000 1.8 1.85
4+6.45 6.450 1.8 1.80 11.6
a8 3 131.950 2298




HERAR 2 AR

KT L ENEIESE

PR (Z2 )

BRL:W<1.0(Z4A)

A R | REES HE
BREAS | T | 7 18 | WiEiE | FHMmE|) 7 18
2+73.8 0.000 1.3 0.2
2+80 6.200 1.3 1.30 8.1 0.2 0.20 1.2
NO.3 20.000 1.4 1.35 270 0.2 0.20 4.0
3+20 20.000 1.3 1.35 270 0.2 0.20 4.0
3+40 20.000 1.3 1.30 26.0 0.2 0.20 4.0
3+60 20.000 1.3 1.30 26.0 0.2 0.20 4.0
3+80 20.000 1.3 1.30 26.0 0.2 0.20 4.0
NO.4 20.000 1.3 1.30 26.0 0.2 0.20 4.0
4+5.3 5.300 1.3 1.30 6.9 0.2 0.20 1.1
= 131.500 173.0 26.3




HERAR 2 AR

KT L ENEIESE

R (A A)

BRL:W<1.0(HA]D

A R | REES HE
BREAS | T | 7 18 | WiEiE | FHMmE|) 7 18

2+80 0.000 1.1 0.3
NO.3 20.000 1.5 1.30 26.0 0.2 0.25 5.0
3+20 20.000 1.5 1.50 30.0 0.3 0.25 5.0
3+40 20.000 1.4 1.45 29.0 0.2 0.25 5.0
3+60 20.000 1.3 1.35 270 0.2 0.20 4.0
3+80 20.000 1.4 1.35 270 0.2 0.20 4.0
NO.4 20.000 1.3 1.35 270 0.2 0.20 4.0

4+6.45 6.450 1.3 1.30 8.4 0.2 0.20 1.3
= 126.450 1744 28.3




HERAR 2 AR HKIEXEIBFNEE
A UL—X) (Z ) A UL—X) (4D

A R | REES HE

BREAS | T | 7 18 | WiEiE | FHMmE|) 7 18
2+745 0.000 0.1
2+80 5.500 0.1 0.10 0.6 0.4
NO.3 20.000 0.2 0.15 3.0 0.7 0.55 11.0
3+20 20.000 0.3 0.25 5.0 0.7 0.70 14.0
3+40 20.000 0.3 0.30 6.0 0.7 0.70 14.0
3+60 20.000 0.3 0.30 6.0 0.5 0.60 12.0
3+80 20.000 0.2 0.25 5.0 0.5 0.50 10.0
NO.4 20.000 0.2 0.20 4.0 0.5 0.50 10.0
4+5.3 5.300 0.2 0.20 1.1 0.5 0.50 2.7
4+6.45 1.150 0.5 0.50 0.6
= 131.950 30.7 74.3




HERAR 2 AR

BARBRT FREAREE

LREAEE T (H=0.40m)

A R | REES HE
] TR | F 1E | MTETE | FOMRE| 3T

2+745 0.000 16.40

2+80 5.500 7.62 12.01 66.1

NO.3 20.000 1.73 7.68 153.6

3+20 20.000 1.72 1.73 154.6

3+40 20.000 7.49 1.61 152.2

3+60 20.000 7.14 1.32 146.4

3+80 20.000 7.50 1.32 146.4

NO.4 20.000 1.54 7.52 1504

4+6.45 6.450 1.54 1.54 48.6

S & 131.950 1,018.3




R2AmIL15# TEIREFES

£ Hl:W=5.0 £ #El:W<5.0

Al o= | XREER

BrEE | FHMRE
K0-2.5 0.000 0.0
KNO.0 0.000 0.0
K0+10 10.000 0.9 0.45
K0+20 10.000 0.8 0.85
K0+40 20.000 0.2 0.50
KO+40’ 0.000 0.0 0.10
K0+60 20.000 0.0
K0+80 20.000 0.0
KNO.1 20.000 0.0
K1+13.3 13.300 0.0
K1+15.1 1.800 0.0

op

115.100




RZ2AXmEI1E54

HKILENEAES

R (A A)

BRL:W<1.0(HA]D

A R | REES HE
BREAS | T | 7 18 | WiEiE | FHMmE|) 7 18
K0-0.4 0.000 0.5 0.2
KNO.0 0.400 0.5 0.50 0.2 0.2 0.20 0.1
K0+10 10.000 0.7 0.60 6.0 0.2 0.20 2.0
K0+20 10.000 0.8 0.75 7.5 0.2 0.20 2.0
K0+40 20.000 0.5 0.65 13.0 0.2 0.20 4.0
K0+40’ 0.000 0.5 0.50 0.0 0.2 0.20 0.0
K0+60 20.000 0.8 0.65 13.0 0.2 0.20 4.0
K0+80 20.000 0.8 0.80 16.0 0.2 0.20 4.0
KNO.1 20.000 0.7 0.75 15.0 0.2 0.20 4.0
K1+13.0 13.000 0.5 0.60 7.8 0.2 0.20 2.6
= 113.400 78.5 22.7




MHTERE - KBTI THERHE

p: I ERERTE [EiE: K 8 BRL =3
EWERELTT
NO.2+80.0fFtiF |BOX-B1000 X H700 1.0 23.4 9.6
AT m® m°®
& i 1.0 234 9.6




HMEELTT HEHHEE

(BOX-B1000 X H700) 1.0&Y)
(NO.2+801+ )
BERE ST THrm
$=1:50
BT
/ BOX-B1000 x H700
7 SHEEE - t=30cm
£
o N~ BRI RE : t=40cm
= =§p—= | G = =
r R Y,
T \ \ "‘\/
A _/
400 1460 400
2260
% B O® it B R Bifs1 =
PRYE 3.9%6.0 = 23.40| m3 23.4
BRL 1.6%6.0 = 9.60| m3 9.6

* T TIERL=6.0m

PR #£=3.9m2

BRL=1.6m2




BEVMHREEZRRE

I & oAl E. B I Bl % 2 & &

7’ Vv AN - T
BET 2R BOX-B500 X H500 | #& |K0+0.77 m 0.95
BET 4T BOX-B800 X H800 | 7# |2+73.75~2+75.07 m 1.33
BETSH BOX-B1000 X H700 | % |2+74.65~2+80.35 m 6.01
7LEvAPURMAIE T [PUS-B250X H250 | A& |3+96.50 m 1.00
n_|3+99.80 " 1.00
a8 &t " 2.00

EHAERET

B B %A {8liE T 15!|B500 X H900~1000 | 7 [2+76.16~2+84.66 m 8.52
(RER) #it 7 FEB500 X H900 " 3.52
ik i1 FAB500 X H1000 " 5.00
1y —bayhy)-t m3 0.47
B B ) g {8liE T 28! | B400 X H600~800 | 7Z |2+85.5~4+5.3 m 120.00
(NER) it Bt FIB400XH600 " 88.00
#it 47 FIB400XH700 1" 16.0
#it 47 FHB400XH800 1" 12.00
T 7 FHB400XH600 " 4.00
1y -pavyy-+ m3 3.01
B B &) fcAlE T35 |B500 X H600~700 | £ |2+81.65~3+95.85 m 107.00
(HER) it B FHB500XH600 " 100.00
it Bt FAB500XH700 " 7.00
1y —payhy)-t m3 2.87




BEYH=ERHFAS
I & MooA k. B P BEir = s &
B B 4 E{AIE T 4% [B400 X H600~800 | £ |3+97.15~4+6.45 m 8.00
(HER)
it b FAB400XH600 " 6.00
& M FEB400XH600 " 2.00
Ay =k -b m3 0.16
B AR AIE T 122 |[B600 X H500 £ |KO+1.97~K1+12.13 m 108.12
(HER)
#it W FAB600XH500 " 108.12
A9 =pauhY-b m3 3.26
B B A ECEIE T &5 |#itET FAB400XH600 L=88.00+6.00 m 94.00
#it Wy FAB400XH700 L=16.00 m 16.00
#it Wy FAB400XH800 L=12.00 m 12.00
it b FAB500XH600 L=100.00 m 100.00
it b FAB500XH700 L=7.00 m 7.00
4t FHB500 X H900 L=3.52 m 3.52
4t T FEB500 X H1000 L=5.00 m 5.00
it b FAB600XH500 L=108.12 m 108.12
% 47 FAB400XH600 L=4.00+2.00 m 6.00
Ay =k -b V=0.47+3.01+2.87+0.16+3.26] m3 9.77 | 18-8-40
oo —k AFEE VY- T EESH m3 19.40 [ 18-8-40
EET
BEE ¢ 150 AFRIEEEXERAZSSE | m 0.5
® 200 " m 13.3
¢ 300 " m 0.5
BT EKH T
Kk TGIHY B700 x L2000 x H1050| #& |K0+0.77 P 1.0




MEVMHREEREE

I & | . A I Bl & 2 & &
7 Vv AME KT
£k#IP4-2%  |B300x1600%xH800| £ |KO+41.24 BT 1.0
Sk TP4-3%! " n__|K0+90.53 " 1.0
& &t " 2.0
& 7kt TPE=TEL_|B400 X L400 4+12.25 &
£ K TP " 11N\ ]4+20.35 /
Sk T P6=3E " N\]4+26.96 p
& &t !
&£k IP7-18  |B500 % L500 X H1000| 4 |2+89.02 i FT 1.0
SkigTP7-2%! " n_3+13.23 " 1.0
Sk TP7-3%! " 1 3+26.45 " 1.0
Sk TP7-4%! " n__13+30.67 " 1.0
Sk TP7-5% " n__|3+41.89 " 1.0
Sk TP7-6%! " 1 |3+50.61 " 1.0
SkigTP7-78 " 1 |3+58.83 " 1.0
Sk TP7-8%! " n__3+71.05 " 1.0
SkigTP7-9%! " n_13+80.27 " 1.0
$£Kk#TP7-108! " 1 3+86.49 " 1.0
a &t " 10.0
£k ITPI-1%!  [B500x L1000 xH1000| & [3+96.50 BT 1.0
Sk TP9—2%! " n_13+99.80 " 1.0
a &t " 2.0
£k#IP10-28 |B600XxL600XxH800| #H [KO+57.25 BT 1.0
Ek#TP13%8 B800 X L800 X H1500| 7Z [2+75.61 i FT 1.0
£k ITP147Y B800 X L1000 X H1000| £ |K1+12.67 (03l 1.0
£KkHITP15% B800 X L1000 X H1250| 7 |2+85.31 BT 1.0
SKMIP16HE! B1000 X L1000 X H1000 | #& |2+81.00 [E03il 1.0




BEYMHEERRAE
I & | . A I Bl & 2 & &
S IKMBOXIRE &I T
Ek#TP13% BOX-B800 X H800 | 7% |2+75.61 i FT 1.0
Ek#TP16%! BOX-B1000 X H700 | % |2+81.00 i FT 1.0
£k IP17-18 |BOX-B1000 X H800 | 7 |K4+40.15 i FT 1.0
f£kiIP17-28 |BOX-B1000 X H800 | 7 |K4+46.10 i At 1.0
ISRTTKER T
E{KEET B400 x H550 £ [2+85.31 m 1.2
JKERIHIET
BEER K BR##{E T 124 (8360 X T100 Z [3+36.4~3+51.7 m 15.3
1 |3+98.9~4+5.3 " 6.4
a &t " 21.7
BRER /K iR 418 T 25 |B360 X T100 E [2+89.7~2+99.9 m 10.2
1 |2+99.9~3+36.4 " 36.7
1 |3+58.4~3+65.3 " 6.9
1 |3+83.0~3+95.2 " 12.2
a &t " 66.0
BRER /K BB 418 T 45 |B400 X T120 % [3+65.3~3+83.0 m 17.7
#IBT
+RH3v4)-+EIET |18-8-40 t=100 A |Ki+126hik m2 0.6
REMEIX
JEBIKFT £ [3+801Fi [E03i1 1.0 [HuTiHEED
L RET
A |4+0fhE n" 1.0 %
a8 & " 2.0




ErENEERAS
a

oAl E. B R Hfy| &% 8 W=

VP ¢ 150 £ |K0+90.53 m 0.5
VP ¢ 200 1 12+89.02 " 0.7
n o [3+13.23 " 1.1

1 13+26.45 " 1.4

1 13+30.67 " 1.5

n o [3+41.89 " 1.8

n [3+50.61 U 1.5

1 13+58.83 " 1.1

n o [3+71.05 " 1.1

1 13+80.27 " 1.2

1 13+86.49 " 1.4

n o |KO+41.24 " 0.5

B8 & " 13.3

VP ¢ 300 £ |K0+57.25 " 0.5




AR Z KR MgV -FLE RS

fEEEa7) -+ (ZAD fEEEav7)-+ (B AD
A R | RREERE mE
BRETR | FHIMRE| 7 18 | WiEtS | FHME| 7 18
2+75.1 0.000 0.27
2+80 4.900 0.27 0.27 1.3
2+86.4 6.400 0.27 0.27 1.7

= 11.300 3.0




R2AmIL15# MgV - MRS

fEEEav7Y-t (B AD

A R | REES HE
BREAS | T | 7 18 | WiEiE | FHMmE|) 7 18

0+0.6 0.000 0.13

NO.0 0.600 0.13 0.13 0.1

0+10 10.000 0.13 0.13 1.3

0+20 10.000 0.13 0.13 1.3

0+40 20.000 0.15 0.14 2.8

0+40’ 0.000 0.15 0.15 0.0

0+60 20.000 0.15 0.15 3.0

0+80 20.000 0.15 0.15 3.0

NO.1 20.000 0.15 0.15 3.0

1+12.1 12.100 0.16 0.16 1.9

op

5 112.700 16.4




WETIR HEHEE

(BOX-B500 X H500) 10.0m¥4Y)
F00
00 500 100
=]
/ AN
BOX-B500 x H500
R B (T-25t #waH L)
o . /
i = e (1:3)
= N
= %ﬁ _HLayey-+
™ oA )~ 188-40
J L HBERE
RG—40
10| 700 O
aG0
% B O® it & K Bifs1 =
FvhRBNN - T-25t BOX-B500XH500 (###HdHY)) L=2.0m/{8 W=1300kg/{@ | {& 5.0
EELAN 1:3 0.70%0.03%10.0 = 0210 m3 0.210
18-8-40
¥HLavy -+ t=100 0.90%10.0%0.1 = 0.900| m3 0.90
B LA 0.10%2%10.0 = 2.000| m2 2.00
RC-40
EBRA t=200 0.90%10.0 = 9.00| m2 9.00
HEEEIF T 0.90%10.0 = 9.00[ m2 9.00




HETAE HEHRE

(BOX-B800 x H800) 10.0m¥4Y)
1060
130 800 130
/ N
o - BOX-B800 = H800
s =8 (T-25t #tkEdY)
i . P4
o) BEELINC1:3)
g N
g % . W t’:JLfl‘z_U'J—I-
N ERRER
RC-40
100 1060 1 00|
1260
% WO it B R Birl & 2
FvhRBNN - T-25t BOX-B800XH800 (###dnlY)) L=2.0m/{8 W=2520kg/{@ | {& 5.0
EELAN 1:3 1.06%0.03%10.0 = 0318 m3 0.318
18-8-40
¥HLavy -+ t=100 1.26%10.0%0.1 = 1.260| m3 1.26
B LA 0.10%2%10.0 = 2.000| m2 2.00
RC-40
EBRA t=200 1.26%10.0 = 12.600| m2 12.60
HEEEIF T 1.26%10.0 = 12.600| m2 12.60




WEISH HEHEE

(BOX-B1000 x H700) 10.0m¥Y
1260
130 1000 130
§ § BOX-B1000 x H700
(T-25t fitwedp W)
_sgi BRENIN(1:3)
S i
=4 B Lashy-4
= ~ 18-8-40
HEERS
RC-40
100 1260 r00
1460
% WO it & K Bifs1 =
R yhRMLN -} T-25t BOX-B1000XH700 (#tfEdnY)) L=2.0m/{@ W=2780kg/{& | {& 5.0
EELAN 1:3 1.26%0.03%10.0 = 0378 m3 0.378
18-8-40
¥HLavy -+ t=100 1.46%10.0%0.1 = 1.460| m3 1.46
B LA 0.10%2%10.0 = 2.000| m2 2.00
RC-40
EBRA t=200 1.46%10.0 = 14.60| m2 14.60
HEEEIF T 1.46%10.0 = 14.60| m2 14.60




UBIIIET HEHFEE

(PU3-B250 x H250) 10.0m4Y)
.| - -
105, 250, J05;
455 5555 5145
i i 1vh-1E (3E-B250)
/ (EREET 1)
VRS 1]
i, PU3-B250x H250
! .b{ : | g EN50 (1:3)
it Fiad et
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SEKKMIGIE HEHEE

(B700 x L2000 x H1050) 1.0 Yy
% W B O® it & K B # 2
(1.30+1.237)/2%2.40%1.10
A0 | 24-8-25 | —(1.095+1.042)/2%2.00%0.70-0.50%0.50%0.20 =  1.803
—(0.60%0.50+0.40%0.75+0.30%0.45)*0.20
-0.62+%0.50%0.09-0.86*0.70%0.11 = -0.241
5t =  1.562| m3 1.56
(1.30+1.237)/2%2.40%2+1.10%(1.30+1.237)
BB s R +(1.095+1.042)/2%2.00%2+0.70%(1.095+1.042) = 14.649
—(0.60%0.50+0.40%0.75+0.30%0.45)*2
-0.50%0.50%2-0.62*0.50-0.86%0.70 = -2.882
(0.50+0.50+0.60+0.50+0.40+0.75+0.30+0.45)*2
x0.20+(0.62+0.50)*2%0.09 = 1.802
5t = 13.569| m2 13.57
18-8-40
¥Lavy -+ t=100 2.60%1.30%0.1 =  0.338| m3 0.34
B LA (2.60+1.30)%2%0.10 = 0.780| m2 0.78
RC-40 = 3.38| m2 3.4
EBRA t=200 2.60%1.30%0.20 =  0676| m3 0.68
53] D13 HmEERSE kg 85.682
B800XL2100(T-25) ¥ RU1E&H447"
yL-FUhE T&EE (B800 x L525-48 &IV ME TE) #H 1.0
HEEEIF T 2.60%1.30 = 3.38| m2 3.38
= RETEE|PL-t=4.5mm| 0.90%3%2%2%1.41kg/m = 15.228| kg 15.23
L-50 x50 X 4 | 0.90%2%2.95kg/m =  5310| kg 5.31
F=-LAT7Uh- | P10(SUS) | 4%3 = 12.0| & 12.0
BKET
#ITTaIvy)-N 18-8-40 | (0.90%0.83-0.70%0.73)*0.40 = 0.094| m3 0.09
U c INEY (0.90%0.83-0.70%0.73)*2+0.40%0.83*2 = 1.136| m2 1.14
L=80mm/A n=247K
FUh-f5 D13 D13 0.08%24%%*0.995 = 1.910| kg 1.91
7Uh-El ¥l D13FH L=30mm/ & & 12.0




£KMIP13EBOXMELENT HEHTEE

(BOX-B800 x H800) 1.0 T HY
kit TP13E
S 1) —k
] T-940
T3 /AT =027 m
4 = 0, vHY—k
v g3 ==
2> y—k s M =008, EEN &
8840\ < “18-8-4i
Al =011 m 455 /71095 ¢ s wf A8 = 0. 1480 £
// i : | : 6 =5 00_ 1080 _20 /msfm;zl.L:Iso
D13 (M2}, L=1307, =85
3 L 116, €20 DI3(M12).L=130
[ 18-8-40 . i T .
A5 = 0.32 m2 \AMEY—F
18-8-40
‘Il_mﬁol B5=0.74 m
1480
Ad = 0.13 m ; /\ .
% R B it B K HBi) 2

&Eravy)-+ | 18-8-40 (0.74+0.20%1.26%2)%0.25 = 0311 m3 0.31

B INEY 0.74+(0.50+0.20)*1.26%2 = 2504| m2 2.50

=/ D13(M12) | BOX Z#5 L=130 N 12.0

0.13%12%0.995 1.552| kg 1.55
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(BOX-B1000 x H700)
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Sk IPI6R
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D13 (M12), L=180%,

#ITTH

H-HER

1804
304 1300

1135

1083 _5p

=/
D13 (M12), L=180

j=1
w
(=21

N
F-Q
RN 8

! i
ﬁ{// L
il \ avsu—+t
/ 00 1328 _ p7g  18-8-40
I 501 B8 = 0.46
% W RO® it & K B 2
#3Irav9)-b | 18-8-40 | (0.46+(0.20+0.30)%0.96)*0.25 = 0235 m3 0.24
B O INEY 0.46+(0.50%2+0.20+0.30)*0.96 = 1.900| m2 1.90
= D13(M12) | BOX =#5 L=180 . 8.0
0.18%8%0.995 =  1.433| kg 1.43
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B-BRRE _ C-CEmi
1300 5 1800 =i
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DIaN2), =160, A D130H12) . [=200", Vo EE
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haiE \WJHZDJ "
270 1260 _} ?é- B2 =088 m 8 1260 70 Bl = 0.88 m®
1800 |10 " |
% OB i 7 A Bl #E
H3rav9)-b 18-8-40 (0.11+0.08)*1.16+0.27%0.2 = 0.274] m3 0.27
G INEY 1.11+0.27%1.16%2 = 1.736] m2 1.74
=i D13(M12) | BOX Z#5 L=130 Z 4.0
BOX Zf L=180 ZN 12.0
BOX Zf L=230 ZN 4.0
(0.13%4+0.18%12+0.23%4)%0.995 = 3582| kg 3.58




£k IP17-28BOXIMAEIT BEHEE
(BOX-B1000 x H800)

1ORRTHY

T4
avgy—¢ i ,f'l.l'l"ll
/18840 In' Ir'lll ,'II F-FERE
A7 = 0.27 m Il
avsy—t ”;/
18-8-40 i _ 1750 »
A6 = 0.08 m2_ | i . .
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F wf ot M 116740 |
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Eih =
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= W | T T
1 T
He——=4 |\ avoy—t
5 1329 _pi9  18-8-40
TR 87 = 0.65 m?
& W H OB it F R BHil =
#3720%9Y-F | 18-8-40 | 0.08%1.29+0.16%0.96 = 0.257| m3 0.26
G INEY 0.65+(0.50+0.35)*0.96 = 1.466| m2 1.47
=i D13(M12) | BOX Z#5 L=180 p:N 4.0
BOX Z## L=230 X 8.0
(0.18%4+0.23%8)*0.995 = 2547| kg 2.55




EESHEINERESR

EE REI(F-bhAMHEE) | REL(BAEEMEE) RRI(FRI7ILREGEE)
I & t=5cm t=4cm t=5cm t=3cm g =
(m) 14SW=30 3.0<W W<1.4 W<1.4 W<1.4 14SW=30 3.0<W
HEARZAREREAD | L=124.75m
HEARZAREEHEAD | L=124.75m
RZzAXmEIL1 54 L=111.6m 36.7 1474
2 2 2 2 2 2 2
m m m m m m m
& i 36.7 1474




HEMEINMERLESR
EE HEET(FRI7ILAEGEL) BT PREET
I & t=5cm TERET | TRRSEI | TERET | LERET | TRERETL g &
(m) w<14 1.4=W=30 t=10cm t=10cm t=20cm t=12cm t=10cm
HAER 2 ALEHEEAD | L=124.75m 68.0 349.8 416.5 4128
HEARKZAREEEHE A | L=124.75m 1451 350.9 494.8 491.1
RZAXEI1E54E L=111.6m 335 335
m2 m2
5 213.1 700.7 911.3 903.9 335 335

op




HEAR 2 AR HEMETRARES
=0 =0
EEIW14) EETIT(U4=W=30)
B | KM =
6 | TioiE | T | 8 | TiE | T @
2+81.7 0.000 0.00 3.99
NO.3 18.300 0.46 0.23 4.2 2.71 3.35 61.3
3+20 20.000 0.45 0.46 9.2 2.71 2.71 54.2
3+40 20.000 0.49 0.47 9.4 2.71 2.71 54.2
3+60 20.000 0.50 0.50 10.0 2.71 2.71 54.2
3+80 20.000 0.84 0.67 13.4 2.71 2.71 54.2
NO.4 20.000 0.81 0.83 16.6 2.71 2.71 54.2
4+6.45 6.450 0.81 0.81 5.2 2.71 2.71 17.5
a5 &f 124.750 68.0 349.8




HEAR 2 AR HEMETRARES
] A
EEIW14) EETIT(U4=W=30)
B | KM =
6 | TioiE | T | 8 | TiE | T @
2+81.7 0.000 0.74 2.71
2+88.1 6.400 0.74 0.74 4.7 2.71 2.71 17.3
NO.3 11.900 1.57 1.16 13.8 2.81 2.76 32.8
3+20 20.000 1.37 1.47 294 3.01 2.91 58.2
3+40 20.000 1.40 1.39 21.8 2.71 2.86 57.2
3+60 20.000 0.94 1.17 234 2.81 2.76 55.2
3+80 20.000 1.06 1.00 20.0 2.71 2.76 55.2
NO.4 20.000 0.93 1.00 20.0 2.91 2.81 56.2
4+6.45 6.450 0.93 0.93 6.0 2.91 2.91 18.8
a5 &f 124.750 145.1 350.9




HEARZ AR HEHETHEITES
Z T =1
FREBRET TERET
b= X i 2 =
2 FigmE | F & B FHE | F IR
2+81.7 0.000 3.98 3.95
NO.3 18.300 3.16 3.57 65.3 3.13 3.54 64.8
3+20 20.000 3.15 3.16 63.2 3.12 3.13 62.6
3+40 20.000 3.19 3.17 63.4 3.16 3.14 62.8
3+60 20.000 3.20 3.20 64.0 3.17 3.17 63.4
3+80 20.000 3.54 3.37 67.4 3.51 3.34 66.8
NO.4 20.000 3.51 3.53 70.6 3.48 3.50 70.0
4+6.45 6.450 3.51 3.51 22.6 3.48 3.48 22.4
& &t 124.750 416.5 4128




HEARZ AR HEHETHEITES
a1 AT
FREBRET TERET
b= X i 2 =
2 FigmE | F & B FHE | F IR
2+81.7 0.000 3.44 3.41
2+88.1 6.400 3.44 3.44 22.0 3.41 3.41 21.8
NO.3 11.900 4.37 3.91 46.5 4.34 3.88 46.2
3+20 20.000 4.37 4.37 87.4 4.34 4.34 86.8
3+40 20.000 4.10 4.24 84.8 4.07 4.21 84.2
3+60 20.000 3.74 3.92 78.4 3.71 3.89 778
3+80 20.000 3.76 3.75 75.0 3.73 3.72 74.4
NO.4 20.000 3.83 3.80 76.0 3.80 3.77 75.4
4+6.45 6.450 3.83 3.83 24.7 3.80 3.80 24.5
& &t 124.750 494.8 491.1




RZAREIL1 =5 HEHETRIES
KEBIW<1.4) KEIGB.0<W)
Al o= | XREER fE
FHiE | T B g FHiE | T B
0+1.7 0.000 3.42
0+6.6 4.900 3.42 3.42 16.8
0+6.6 0.000 3.42 3.42 0.0
0+10 3.400 3.87 3.65 12.4
0+20 10.000 3.77 3.82 38.2
0+40 20.000 4.22 4.00 80.0
0+40’ 0.000 0.50 0.25 0.0
0+60 20.000 0.50 0.50 10.0
0+80 20.000 0.50 10.0
NO.1 20.000 0.50 10.0
1+13.3 13.300 0.50 6.7

op

111.600

36.7

147.4




RZAFEIL1 SR HiEMmxTRAES
LRERET TERET
A R | RfEES HE
] TR | F & ] TR | F &
0+1.7 0.000 0.30 0.30
0+6.6 4.900 0.30 0.30 0.30 0.30 1.5
0+6.6 0.000 0.30 0.30 0.30 0.30 0.0
0+10 3.400 0.30 0.30 1.0 0.30 0.30 1.0
0+20 10.000 0.30 0.30 3.0 0.30 0.30 3.0
0+40 20.000 0.30 0.30 6.0 0.30 0.30 6.0
0+40’ 0.000 0.30 0.30 0.0 0.30 0.30 0.0
0+60 20.000 0.30 0.30 6.0 0.30 0.30 6.0
0+80 20.000 0.30 0.30 6.0 0.30 0.30 6.0
NO.1 20.000 0.30 0.30 6.0 0.30 6.0
1+13.3 13.300 0.30 0.30 4.0 0.30 0.30 4.0
= 111.600 33.5 33.5




1.0 HY
HEES B % a3 B % 2
ERNEHBHRT
Al ERNZH B & 1.0
Zw. BHl. IBREZEREERT
K4-K5-K6-K7 B &3 4.0
IUR—IILEIRET
3481113
| EskiE HPH KRRy RGRET ki 1.0
2,6,7,10,37
TKiE TARIUAR—IILEREL & 5.0
19
NTT N2 h=)L AT B 20
512 EAGE g HFT s R—=)L T B 20




HE AR 2 A%

RUR—IVEREEEHEE

HEES Al = e &% Yk-VETES | kMRS | Wk-VERES &%
2+ NTT
2 2+82.2 FKIUR-I 116.744 116.840 -0.096
2F IKE £ 4
4 2+98.7 | JHAERF YR 116.846 117.060 -0.214
3T K& # B
6 3+20.3 FKIUR-I 117.154 117.420 -0.266
7 3+57.3 TIKIVEH-I 117.781 117.990 -0.209
3+ KE i
3+ NTT 4
10 3+98.2 TFKIUR-I 118.487 118.720 -0.233
47T KE 7
470 JKiE # 4 |FBE%
4+ H KT
RKzAXEI15# TUR—ILVIRAEEIHHEE
HEES | A R 4 YR-VEES | Wik VRIRS | Wk VREE | EE
37 0+17.7 FKIUR-I 124.944 125.190 -0.246
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HITEERAERIER
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